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= Al 28,417,991 29,972,169 N1,654,178
elel 23| 184,958 184,958
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2= 175,058 175,058
A=A 9,900 9,900
g2 x| 6,060 6,060
Sy 3,840 3,840
=gl 145,819 145,819
Lot | 117,543 117,543
AtS2teltl 38,900 38,900
S3=24| 78,643 78,643
1] 11,840 11,840
=LH0{ bl 11,840 11,840
&g 2=l 4,060 4,060
M E R = 160 160
AZH 2 =L 2,700 2,700
FA2ELR2FAHI 1,200 1,200
=4I 720 720
2B =2 I 720 720
Scl=dl 2,016 2,016
JIEt=cl = 4| 2,016 2,016
=&AWL 9,640 9,640
JIEW X 2,640 2,640
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ANEZEBIR XY 7,000 7,000
Za0IH 528,321 528,321
A=RE=sS 28,054 28,054
H=RE= 22,239 22,239
=CALEEHRES 5,815 5,815
QI2+oI A 100,267 100,267
RIZtRE = 100,000 100,000
SE=PNE=1= 267 267
el = Ol RH&kE 400,000 400,000
ANZRXENL IS L S0l A&kt 400,000 400,000
=XE 16,539,000 16,639,000 A 100,000
AEHI X R 16,539,000 16,639,000 A 100,000
A& H] 15,584,650 16,017,000 A432,350
Zell 918,350 591,000 327,350
A& 208l 36,000 31,000 5,000
SHEMA 600,000 600,000
LS arE 600,000 600,000
AZ RGN EI S sda 600,000 600,000
JIEF 10,223,822 11,678,000 A1,454,178
JIEtSg & 20,000 20,000
JIEtA=H K= 10,203,822 11,658,000 N1,454,178
ollg1 8l 196,071 196,071
=A™ X =0 dld] 96,071 96,071
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